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Which factor does not affect job performance?
Need

Motivation

Environment

Ability
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4. Study recommends a complementary approach geared towards expensive procedures and
drugs as well as the extensive additional care besides expensive treatments, This suggests
bundled payments may be worthwhile, as well as multidisciplinary assessment of patients’ care
needs for expensive treatments. More research is needed to identify beneficiaries at risk of
incurring high costs (Wammes, Tanke, Jonkers, et al., 2017).
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